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Puzzle 1 (Hard, difficulty rating 0.69)

|
~|m[wlo|cfol=(o|—] o ofw|N|=]— oo Blo|<|[~|w©]|o|w]m|a]— _Jo|w|o|=||]|m|o]—
S e o
—|o|of~|o|wl<t|a|m]  Sleo|o ||t —|m]|of© W cufo| o] —[<t|{ o[]S ||| —|o|~|w
=
©
o|a|~|<x|m|—|o©o|o|w] S]c|w|—|o|o]|o]m|~|< S| —|a|o|—|o|<t|{o] S| |©o|—|o[m]|o] ||
s 2 o
w|~|o|mfofaf—|st|o] S| |l <t| o] [ofm 3|~ |~|o]<|w|o]o|m)  Hwo|<t|ofo|—|~]|~jo|©o
=] £ =]
o|—|<|o|w|o]|m|~|o] %482139567 Slwo|a|<t|oo|m| o] —|~|© %317269854
he] £ Ee]
afo|of—|st=|wfool  _Jofo|m|—|owlst o= Slo|o|m|—|cf s ool _Jlolo|a|o]of st m
et © t
@© (] @©
o|w|o|n|=|mlo|—[<]  Il—|m|o|jo|~[(cfo|sv] Sl |m||w|—[o|o|o(~]  I)—|ofw©]o|~|m]|w| | o
N ™ <t
|| —|o|wo| |||~ olwo|—|o|m|wo|<t|o|l—|a]  olo|o]|o]o|~| ool —] < olo|o|w]<t| | —]m |~
N N N
||| |@fo (@] - Flo|n|s|ofof=l=miol - S| [w]o|o|sN|o|m] - Slst|| o] |o|w]| ool




